The group G is isomorphic to the group labelled by [ 31, 1 ] in the Small Groups library.
Ordinary character table of G = C31:

la  3la 31b 3lc 31d 3le 31f 3lg 31h 31i 315 31k 311 3lm 31ln 3lo 31p 31q 31r 31ls 31t 3lu 31v 3lw 3l 3ly 31z 3laa 3lab 3lac 3lad
x1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
x2 | 1 E(3l) E@B1)* E@B1)?* EGBL* EB1)® E@BLS EBL)” EBL® EBDY EGBLHY EGHY EEGBLHT? EEGBHYB EGBHY EGBHY EEGBDS EGBHY EEBH® EBDY B3P EBL* EBL* EBL*® EGBL* EBL*® EB1)* EB1)* EB1)%® EB1)% E(31)%
xs | 1 E@B1)? EGBL* EGBLS EBLHE EGBHY EGBLH2Z EGBHM EGBHY EGBLH® EB1)2° EBH* BB BB EB1)2 E(31)%° E@B1)  E@B1)? EB1)S  EB1)T BB EGHY EGBLHYB EEBLHY® EGBLT EGBDY BB EB1)22 E(31)%® E(31)* E(31)¥
xa | 1 E(31)* E@BDS EGBLH? EGBD2 EGBDY® EBHE EGBHH EGBD* BB EB1)3° EGB1)? BB EBLHE EGHY E@BHM EGBDY EGBDP E(B1)2 E31)% EBH® E@BL) EGBDY EB1)T EBDHI EGBHE EGDHY EGBDY E(31)2 E(31)® E(BLH)E
xs | 1 E@BL* E@BL® EBD2 EGBDI EGBDP EGBDH* BB EB1) EBD)S EGBDY EGLHYE EGHY EGBD? EGBD? EGBD? E@B1)?2 EGBLDS EGBHY EGBHY EBDHY® EB1H)2 EBL* EB1) EB1)®  EBLT EGBLHY EGBLY EGBDY EB1)® E(B31)T
xe | 1 E(31)°> E@BLI EGBLHY EBL* EGBD*® EGB1) EGBLH* EBDY EGBLHM EGBLHY BB EGBL? BB EGBLE EGBHYB EGBD® BB EBH® EGBL? EGBLDT EBDY@ EGBLY EBL*® EBLY  EB1)  EBLS EGBLM EBLIC EB1)2 E(31)%
x7 | 1 E@BL® E@BL? EGBL® EGBLH* EBD EB1)° EGDY EGBDT BB BB EGBDYT EGBLYY EGBLS E(B1)22 E(B1)2 E(B1)2 E@BL)? EGBHY E(BLDX BB E(B1)? E(B1)® E@BLM™ EBL* EBL*  EB1)  E(3L)T EBL® EBLY EBLH®
xs | 1 E@B1)7 E@BLHY EGBLH* EGBLH® EGBLHYT EGBLHY EGBDH® EGBLH®  EB1)  EB1)® EGBLHY EGBLH* EGBL? EB1)S EBH2 EGBDY BB EB1)2 E(31)Y EGBD* EGBLHZP BB EB1)S EGBHE EGBH* EGBLT EB1)3 EBLY BB BB
xo | 1 E(B1)® E@B1)* EGBLH* EB1)  E31)° EGBLYT EGBL* EGBL)? EGBLHY EEBLH® EBH* BB EBEGELHY EGBLHY EBLHFT EGBHY EGBDY? EB1)2Y EB1)2 E(B1)° EGBHB EGBL? EB1)2Y E(B1)S EGBLM BB EB1)3 E(31)T E(BL)Y E(31)%
xio| 1 E(B1)° EGBD® EBLHY EB1)° EGBDM EGBDH®  EB1) EGBLHY EBEGHY EGBLH2 EGBDS EEGLHY BB EGBL?2 EGHY EGBD? BB EGBLT EGBDY BB EGBL)? EBD2 EGBLHY EB) EBLHE EGBLY EBL*  EB1)* EBL?® E(31)%
xi1 | 1 EGBDY EBH* EB1)3 EB1)° EGBHY EGBDH?® EBL® EGBLHY® BB EBD)T BB E@BL?2T EBDS EGBLS BB BG5S EGBHY EGBD?® EGBLY EGBHM BB EGBL)? EGBHB BB EGB1)? B3 EBL*  EB1) EGBLHY E@BLHH
xiz | 1 EGBDY EBL*E EB1)? EGBLH? EGBD* EGBLHY EGBLHY® BB EGBDS BB BB BB EGHY BB EBDY BB BB EGBH? BB EGB1)? EGBLM™ EBL*  E(31)® EBLY EBLY EBL)T EBL® EB1*®  E(31)° E(31)%
xi3 | 1 EGBD@2 EGBLH* EB1)° EGBLT EGBD*? EGBLY EGB1)22 E31)2 EGBLY® E@B1)2T E(B1)® EGBL)?2Y E@B1) EGBLYB BB E@BLS EGBD® BB EGEHY BB EGBLY EBLY EGBL® E(B1)? EBL* E(31)? EGBLM EB1)* E31)T E@BLY
x4« | 1 EGBDE E@B)* EGBLE EGBLD EB1)2 EBDC EGBH* EGHY EBL? EBHS EGBLHY BB EGBLY EB1)2T E(31)Y E(31)*2  EGBLT EGBLHYT EB1)3° EBDH? EGBLH* EBLT EB1)?0 EGB1)? EGBLY E@BLD® EGBLYY E3B1)2 E(31)° E@B3)®
xi5 | 1 EGBDM EGBHE EGBLHY EGBDH® EB1)® EGBDH?2 EB1)® EGBLHY EBD?2 EGBLHS BB EGHYB BB EGDY BB EGBLT EGBDX EGBDYT EBDY® EGB1) EGBLY EBLY EBL2 EBH* EB1)° EGBHE EBLS EGBDHP E31)3 BB
xie | 1 EGBDY EB1)3 EGBHM EGBD® EGBDHE EGBD?® BB EGBL2T EGLHY BB BB EGBL? BB EGBD? EGBLE EGBDP EGBLT E(BLH*2 EGBLS BB EGB1)® EGBL* EBD* EGBLY EB1)® EGBD® EB1)? EGBDYT  EB1)  E(31)1°
xiz | 1 EGBD® E@B1) EGBLT EBL? EGBD® EB1)? EGHY EGBLHY BB EB1)S EGBL2Y EGBDS EGBL?2 BB EGBL? BB EGBD? BB EGBDP EGBDY BB EEHY EBLY EBL¥? EGBLE EGBLH® EGBL*® EBLHM E31)3° B3P
xis | 1 EGBDY E@B1)? EBL* EBLS EGBD*® EB1)Y EGBD? EGBL? BB EGBLHY® BB EGL® EGBLY BB EGBLT EGBL? EGBDY BB EBLB BB EBDY EGB1)? EBLY E@B1)® EBL* E31)® EGBL® EGBLM EB1)*® EB@BLHM
x| 1 EGBD® EGB1)® EGBH® EGBLHY EB1)2 EGBLY® EGBL? EGBLHP EBLHT EB1)*® EGBLH? BB EGHY EGBLHY EBH*2 EGBL? BB EGBLHM E@B1) EGBHY EGBLS EGBL? EEBLHM E(B1)? EGBDY EB1)2 EB1)2Y E(31)8 E(31)* BB
xeo | 1 EGBDY E@B)T EGBH EGBHYM EB1)2 E31)2 EGB1)° EGBH® EGBDY EBHY EBHE EGBHY EBEGBDX BB E(B1)S EBH® EGBHE BB EGBD2 E(31)® EGBHY EGBHY  EB1)? EB1)?22 E(31)I BB EGBDHY  E31)S E(31)* E(31)12
xo1 | 1 EGBD*  E31)° EGBLH® EGBD® EBL)T EGBLY EGBLIC EB1)® BB EGBLHM EB1)? EGBL2 EGDH?2 BB EGD EGHY EGBD EGBHY EGBLE EGBD® EGBDY EGBLS BB EBHY  EGBL* EBL* EGBLY  EGB1)? E(31)%2 E@BHY
xe2 | 1 EGBD* EGBDYM  E@B1)  EGBL*2 EGBD2 EB1)? EGBD? EGBLHE EBD)? BB EGLHM EGBLDY EGBD? EGBDY EGBL)S BB EGBDY EGBLS BB EBDY  EGBLDT EGBL® EGBL® EBLE EGBLH® EGBLY EB1)Y EB1)3° EB1)2° E(31)1°
xe3 | 1 E(BD* EBL® EBL* EBL?* EGBDT EB1)® BB EGB1)?2Y EBGBL? BB EGBL? EGBLS E(BL)T E(BL? E(BL2 EGBHY E@B1)?2 EGBLD* EGBHY  EGBLS EBLH® EGBLY EGBLY BBl EGBL® EGBLHM EB1)® EB1)* EB1)¥ E((31)°
xea | 1 EGBL® EBLY EBL)T EB) EGBD*2 EGBHM EBLS BB BB E@BLM BB E@BL? E@BL2Y EGBLY? EEBLY E(BL? EGBDY E@BHY E@BL)? E(31)* EBL® EBLY E31)? EGBL*® EBLY E(31)Y E(Bl) EBL* EB1)C E(31)8
xes | 1 EBD? EGBDYT EGBDY  E@B1)2 EGBDP EB1)20 EGHE EB1)S BB EB1)2 BB EB1)? E@B1)? EGBD EGBH)Y EGBHYE EB1)S EGBHY EB1)?22 EGBHY EB1)® E@B1) EGBD EGBH® EGHY EGBHYT EGBHE EB1)2T EGBHY  E(31)7
xee | 1 EGBD® EGBDY EGBD?® EBLT  EB1) EBD?* BB EGBLHM EBD® EB1)?2 EGBL?T BB EGHY BB BB EGBD? EGBD?2 EGBDHY EBDY EGBDY EBHY EBL®E EGBLHY EGBLHY  E(B1)® EB1) EGBLH* EBD® EB1)12 E(31)
xer | 1 EBD* EBD? EGBD EGBDY EBLS  EB1)  EGBL?T E(BD?2 EGLHYT EGBL? EGBD)T E(B1)?2 BB EGBD2 EGBDY® EGBHB EGBLE EGBL? E(BLHY BB EGBDY EGBLM EB1)°  EBL* E31)° EGBL*® EBH* EGBLY EB1)I E(31)°
xes | 1 EGBDY EBLE EGBDHY EGBLHY® EGBDHY EBL)T  EB1)3 BB E(B1)26 E(B1)22 EGLH® EGLHM EGBDY EGBLS EGB1)?2 EGBD? EBLHP BB EGBHY EBLY EB1)?  E(B1)®  E(31) EGBL® EGBLH* EGBLH* EBLC BB EB1)® EBLY
x20 | 1 EBL® EBL*® EBL* EGBLY EGBDC EGBDHE BB EEBL)T EGBLHYT BB EB1)?2Y E@B1)25 E(B1)2 BB EGBLY E@BHM E@BHY E@BL)E E@BL)S  E(B1)? E31)* E(31)* EBL* E@BL* E@BL® EGBLY EB1)? E(31)° E3B1)S E(31)3
xso | 1 E(31)? E@B1)* EGBH*» EGBLD? EGBDH? EBLHY EGBDHY EGHY EGBLHYB EGBLHMY BB EGBLT  EB1)S  EB1)2 E(B1)  E(31)3° E@BL)?® EB1)?° E31)* EGBH* EGBHP EGBLHY® EEBLHS EEHM EGBD? EGBHY EB1)® EB)S BB E(31)?
xa1 | 1 EBD EGB1)? EGBD?® EB1)?T EGBD* EB1)%® EGBH* EB1)? EGBH*2 EGBD EGBDH* EGHY EGBH® EGHY EGBDHS EGHY EBHM EGBH® EEBDH2 EGHY EGHY  EGB1)Y  EGBLE EGB1)T EGBLDS  EB1)S  EGBL*  EB1)2 E@B1)2 E(31)
Trivial source character table of G =& C31 at p = 31:
Normalisers N; N1 | Ny
p-subgroups of G up to conjugacy in G P | P
Representatives n; € N; la | la

1-x1+1-xo+1-x3+1-xa+1-xs5+1-x6+1-x7+1-xs+1-xo+1-x10+1-x11+1-x2+1-x3+1-xu+1-xi5+1-x16+1-x17+1-xis+1-x190+1-x0+1 X1 +1-x22+1-x23+1-x2a+1-xo5+1-x26+1 Xxor+1-xog+1-x9+1-x30+1-x31|31] 0
1-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-X16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30+0-x31| 1 1

P = Group([()]) = 1
Py = Group([(1,2,3,4,5,6,7,8,9,10,11,12,13, 14, 15,16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31)]) = C31

Ny = Group({(

1,2 ,9,10,11,12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31)]) = C31
Ny = Group([(1

;3,4,5,6,7,8
,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17, 18,19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31)]) = C31



